
 159 

IN
D

EX
ER

S 
SH

R
IN

K
 

M
A

C
H

IN
ES

 
P

A
R

TS
 &

 
A

C
C

ES
S.

 
C

O
LL

ET
S 

ST
R

A
IG

H
T 

SH
A

N
KS

 
H

SK
 1

00
A

 
H

SK
 6

3A
 

H
SK

 4
0E

 
B

T4
0 

B
T3

0 
C

A
T5

0 
C

A
T4

0 

www.PioneerNA.com | 847.593.6000 | sales@PioneerNA.com 

P
A

R
TS

 &
 

A
C

C
. 

Holder # Locking Bolt # Jam Screw # 

BT30-MX06-090   MX/MXCS M06X056C HEX5 JAM-NUT BT30 

BT30-MX08-090 MX/MXCS M08X060-10.0 HEX5 JAM-NUT BT30 

BT30-MX12-105  MX/MXCS M10X025-13.0 HEX5 JAM-NUT BT30-FM* 

BT40-MX06-085 MX/MXCS M06X056C HEX5 JAM-NUT BT40 

BT40-MX06-150  MX/MXCS M06X091C HEX5 JAM-NUT BT40X60 

BT40-MX08-085  MX/MXCS M08X060-13.0 HEX5 JAM-NUT BT40 

BT40-MX08-120   MX/MXCS M08X090-13.0 HEX5 JAM-NUT BT40 

BT40-MX08-150   MX/MXCS M08X120-13.0 HEX5 JAM-NUT BT40 

BT40-MX12-090  MX/MXCS M10X060-13.0 HEX5 JAM-NUT BT40 

BT40-MX12-120 MX/MXCS M10X090-13.0 HEX5 JAM-NUT BT40 

CAT40-MX06-085 MX/MXCS M06X056C HEX5 JAM-NUT CAT40 

CAT40-MX06-120 MX/MXCS M06X091C HEX5 JAM-NUT CAT40X30 

CAT40-MX06-150 MX/MXCS M06X091C HEX5 JAM-NUT CAT40X60 

CAT40-MX08-085 MX/MXCS M08X060-13.0 HEX5 JAM-NUT CAT40 

CAT40-MX08-120 MX/MXCS M08X090-13.0 HEX5 JAM-NUT CAT40 

CAT40-MX08-150 N MX/MXCS M08X124-13.0 HEX5 JAM-NUT CAT40 

CAT40-MX08-150 P MX/MXCS M08X124-13.0 HEX5 JAM-NUT CAT40 

CAT40-MX12-090 MX/MXCS M10X060-13.0 HEX5 JAM-NUT CAT40 

CAT40-MX12-120 MX/MXCS M10X090-13.0 HEX5 JAM-NUT CAT40 

CAT50-MX08-110 MX/MXCS M08X090-13.0 HEX5 JAM-NUT CAT50 

CAT50-MX08-165 MX/MXCS M08X120-13.0 HEX5 JAM-NUT CAT50 

CAT50-MX08-225 D MX/MXCS M08X120-13.0 HEX5 JAM-NUT CAT50 

CAT50-MX08-225 P MX/MXCS M08X190-13.0 HEX5 JAM-NUT CAT50 

CAT50-MX12-105 MX/MXCS M10X090-13.0 HEX5 JAM-NUT CAT50 

CAT50-MX12-120  MX/MXCS M10X120-13.0 HEX5 JAM-NUT CAT50 

CAT50-MX12-165 D MX/MXCS M10X120-13.0 HEX5 JAM-NUT CAT50 

CAT50-MX12-165 P MX/MXCS M10X090-13.0 HEX5 JAM-NUT CAT50 

HSK63A-MX06-100 MX/MXCS M06X035C HEX5 JAM-NUT BT40 

HSK63A-MX08-100 MX/MXCS M08X020-13.0 HEX5 JAM-NUT BT40 

HSK63A-MX12-110 MX/MXCS M10X025-13.0 HEX5 JAM-NUT BT40 

S050-MX06-0400 MX/MXCS M06X064C HEX5 JAM-NUT S050 

S050-MX06-0600 MX/MXCS M06X115C HEX5 JAM-NUT S050 

S075-MX08-0600 MX/MXCS M08X090-10.0 HEX5 JAM-NUT BT30 

S075-MX08-0800 MX/MXCS M08X120-10.0 HEX5 JAM-NUT BT30 

S075-MX08-1000 MX/MXCS M08X171-10.0 HEX5 JAM-NUT BT30 

S100-MX12-0600    MX/MXCS M10X090-13.0 HEX5 JAM-NUT BT40 

S100-MX12-0800 MX/MXCS M10X120-13.0 HEX5 JAM-NUT BT40 

Jam Screw Locking Bolt 

MX - Mini Chuck Replacement Parts 

• Select replacement Locking Bolt by Holder # 

• Replacement Locking Bolts are coolant thru 

• * –FM series is front mounting, requires special assembly tool 


